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1. Blood circulates. [fii B 5%F,

Blood ll circulates

2. lIrom rusts. 44,

Iron ” rusts

3. The current flows. HWH K3,

The current flows

4. Light can be reflected. Y:fE#: 5,

Light " can be reflected

5. The valve opened. I T,

The valve n opened

6. The molecules move. 4}FiEZN,

The molecules “ mave |



7 The plants grow. YA K,

The plants | | grow

8. Birds fly. 5 %#H,
Birds fly
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1. We study bard for the realization of the four modernizations.

BRIV ERMLTE 2%,
We study
hard
for J the realization’
J of [ the modernizations

four

Hep Blidhar dRRiE, BB E S FEstudy, ZRFR; MNiFEE for the rea-
lization fEARTE, MBS study CJ M I — BARIE A7 for SHE the
realizationfgFF), FREH; ¥ i@fourtE EiE, B4 A the modernizations;
4174515 of the four modernizations {f g i&, &M% the reaiization°



2. The students go to class together. [F2%{1—iE LZHZE,
The students go

to , class

together

AR AE R o classiEii i g ideo, fERIE, FRMA; B together
B A E S Heo, FRE, ERATR.
3. The current flows in the circuit. HFEZEHKER),

The current flows

in J the circuit

A4y ia) i TEin the circuitgMiig By {lows, 4ERE, FRHLA,
4. The metal contracts with the cold. £ RBAIKE,

The metal contracts

with the cold

5. Blood circulates through blood vessels. I 583 M1,

Blood circulates
through vessels
blood
.

B A blood A A HE, Bk vessels, fEEE ; MAKE through
blood vesselsfgikiE, HihiigiEzhFcirculates,
6. Correct designing comes from practice. FERGRIBEH T L&,

designing

Correct from ' practice

I B iRlcorrect 54 8h 4 i designing, REE; MiAEEIrom practice iR
&, 4B EshiEcomes,

7. Our industry is developing at a high speed. RE T FEALIBEERE.

3



industry is developing

at l a speed

high
8. He need not rest in bed. M AFBEEMNEMAKE,

He need rest

not

in ] bed

Ay b Bl iEnot &4 ¥ iE B iAneed rest, REE; MHAFEIn bed IEHIR F
FhiFlneed rest, ZARiE, ERHA, |
9. Radio waves travel at the speed of light. TR SGH AR,

travel

at | the speed

of ‘ light

W rh & FlradiofB i 4 17 waves, RSEiR; MR lightfEEif, BIFERA
speed; iFMETEat the speed il ifghiAtravel, RI7XRE,

10. Can matter change from one state to another?

Y REE N —FIBSE RN —FIE 5D,

matter Can change
% ?

from J state

one

to J ( state )

another

E e, BERARAESKEOMEE, RIESHE. AR RARESEME L, B
HESREERKZE, URNTHAMEH T, . '
31, Carbon dioxide is being taken off from the body all the time.

ZRAGBRN SRR A A e,

dioxide is being taken off

Carbon

’ from [the body

l all the time




k& A all the timefs MBS is being taken off, BRI, %=
B [l |

12. Sound travels through differeant substances with different velocities.

FEUSENEELEL AR R,

Sound H travels

through substances
different
with , velocities
different

13. Cost of radio receivers was reduced by 70% WHFPHWRARKTI0%,

Cost was reduced

of ' receivers.

radio

14. Integrated circuits were successfully developed in America in 1958.

4R F% L B T 1958 4R 7E 3 B R Bl sl i o
circuits were developed
llntegrated successfully
in America
in 1958

15. The water and steam in the boiler should circulate freely.

# P Bk AR FL AR H BIE3F

water

should circulate

the boiler

16. These nickel alloys maintain their strength at very high temperatures.

REREGEEMRRBET HRRKRHEE,



alloys ' maintain strength

at J temperatures

These high
‘
very

17. Biological control is being widely used in the countryside.

EYIB R ELE R E R

control is being used
Biolegical widely

in ] the countryside
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1. Hsiao Li’'s father is a miner. /NEAERT T,

a miner

Hsiao Li’s

A R RisFIE R R4 Ha miner B, WRA RS REE,
2. The road is accessible to traffic. XZRHEBEW,

accessible to traffic

The road is



A1 RS AE ZE B B AR S ifaccessible to traffic [, # R4 #
BREE. Hit, ABNEERANSHRBALEESF, HEBEMEERXRERS
frE kB, |
All these metals are not good conductors. XE4RBIHAEMER K,

metals conductors

All

The machinery is very simple to maintain. XFHLEREFEEEBHE,

The machinery is simple

very

to maintain

ffto maintainBFHEAREK, FERE, BHERBNHESFAsimple,
The soup tastes delicious. XFBEE, -

The soup : tastes delicious

She became a Party member in 1965 Jh19654EA T 3%, ,

a member

in , 1965 Party

He will be down ir a minute. ff—< LR FRERK,

will be down

in , a minute

Bl A downfE T,
The machines are of high quality. XHHSRERSE.

of ' quality

The machines || are high

L




9. This body remains at rest. Z¥ikPitFErikRE,

at l rest

remains

10. The principal parts of a plant are roots, stems, leaves and flowers.

HYWMEERERMR, £, WK,

_roots
stems
leaves
flowers

principal
of a plant

H)th 4 iElroots, stems, ieaves, flowers3g 3R &8,
11. The fields turn green. HBBRTHE,

The fields  turn green

12. Spring is the best season for planting trees. FEXEHEBNBEGTY,

Spring is the season

plantin Ltrees
best B

for l i

A]Hh g iAthe season R H, EA AbestMAHMEE for planting trees #f &

. Wi the season, {ERE, WMWK, SANEARBANESF, FEENFH

forxiEMplanting MfEZh & Hplanting K iFMitrees, FXPElor EHRIMMIE L #
w3k,

13 The lathe is one of the most useful and versatile machines in the work-

shop, and is capable of carrying out a wide variety of machining opera-
tions. R ) /

EREFAERTRAARSEMNISEZ -, ERZRSHNEMIIR,



is one
of I the machines
useful
The lathe
and and ‘
. versatile
carrying out a variety \l
wide most
¢ | IR
capable o in l the workshop
of I operations
machining
I HEEERENEEG
[a®) EE+EE+RE .
(ERE) HEMEEZRAA—RBELLST. W,
x m ow [x B

() .
1. Annealing has a second advantage, BABH—THA.

a(n) advantage

Annealing

second

2. Neutrons carry no charge. HFFHEHE,

Neutrons

charge

3. No defects did we find in these circuits.

R H B R TBH KR 6.

did find defects

in ' circuits

these

L
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We can solve this problem in many ways. RAIBERA FLE N EMRXEHE,

Heavy snow foretells a bumper harvest. FiEIKFELE,

snow foretells a harvest.

l bumper

Snow also destroys the eggs of harmful insects. FEEWKE sy,

destroys

of | insects

harmful

Quite a few years ago, scientists had very vague ideas about electricity.

ETEMN, AR B AR RIS A,

scientists had ideas
Lyears ago vague
a few very
— e
Quite about ’ electricity

You do not change the shape of a solid by putting it in a container.

BEARERRN, FPRREEHER.

do change the shape

a solid

putting it

in , a container

A
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11.

12.

13.

You ought to have done your experiment more carefully,
L A A SRR
ought to have done experiment
carefully
more

The doctor is feeling the patient’s pulse. EXEELZBALK,

The doctor is feeling the pulse

patient’s

The operators must have missed the notice and instructions on the instru-
ment,

RIEAG— BT LHS #EEF AR ERA,

notice

the

instructions
must have missed

The operators

onlthe instrument

f] 1 & i the noticefllinstructions & 33 g 4>, 4E18 1B & iF must have missed
B EH B 18 A SEon the instrument {545 i@the moticefithe instructions,
fEE i

The CO, laser source has the advantage of being less affected by atmos-
pheric turbulence.

TR RSO IR B R AT R R A

The CO, laser source has the advantage

of J béing affected

R less
l by ‘ turbulence
- . | atmospheric

Ry hbeing affected B3 iFalfect@yBshR, EN Aol BIRIE, less RBIFAL R
%, tiibeing affected, fERIE, RREM,; M iHEFS being affected fEiE,
i & Fthe advantage, 4riF))G#iby atmospheric turbulance 843045 A ¥ 3
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